Name :

Score :

r—(Adding and Subtracting Integers j—=151

Simplify.

1) 1+15= 2 (-6)-(-17)=
3) 19-(-2)= 4 (-13)+20=
5 (-4)+(-18)= 6 5-14=

7) (-12)-7= 8 10+(-16)=
9 3+(-20)= 10) (-8)-12=
1M (-15)-(-10) = 12) (-19)+18=
13) 17+13= 14 11-(-9)=
15) 16-0= 16)  (<7)+(-14) =
\-

Name:

—————Multiplying and Dividing Integers)—sheetl

Simplify.

1)

3)

7)

1

13)

15)
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-

Score:

6x(-4) =

117 +13=

1) x5=

(-154) + (-14)

8x3=

(-40)=10=

90 = {-15) =

4)

10)

12)

(-105)+7=

108 +(-9) =

13x12=

4% (-15)=

35+5=
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Name : Score : Name : Score :
Teacher : Date : Teacher : Date :
Order of Operations

1) (16+ 3)+ 8+ 2

2) (14- 3)x 8+6

3) (11 +40- 3)+12

4) (9+51)=( 0 +4)

5) 5x 5 x(5-10)

Order of Operations

6) (12- 2)+ 14+ 2

7) (15+22- 5)+ 2

8) (14+18)+( 9 - 5)

9) (16+4)x 13+ 4

10) 7x 8 x(6+2)

— _ T
&% Math-Aids.Com =

1) (56- 6)+10+ 72

2) (4x5+2%)+10

3) (41- 32)+(10+6)

4) 11x2+9%)+9

5) 2x(12+6)- 82

6) (44- 4)+4 - 57

7) 8x(14+6)- 42

8) (2+3)2+(12+ 2)

9) (11-3)2+(14+ 2)

10 ) (73- 52)+(16- 4)

. A
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Name

Test One CHAPTER 4: Operations with Integers

MATHPOWER™ Seven, pp. 111-143

Find each sum.

1. (+8) + (-5) 2. (+3) + (+9)
3. (—6) + (+2) 4. (-2) +(-5)
Subtract.
5. (+11) — (+7) 6. (=5)—(-2)
7. (=9)— (+7) 8. (+6) — (-8)
Multiply.
9. (—6) X (+3) 10. (+8) X (=5)
11 (=7) X (—2) 12, (+4) X (+8)
Divide.

13. (~12) + (+4)

14, (+16) + (~2)

15. (—18) + (~3)

16. (+9) + (+3)

Simplify.
17. (=12) + (+8)

18, (+6) X (=5)

19. (+15) + (=3)

20. (+13) — (—4)

21, (—7) X (—4)

22, (—10) + (+2)

23. (+9) + (=11)

24. (—8) — (+5)

50

25, (—24) + (+3)

26. (+6) X (—8)

27. (—14) - (=7)

28, (+8) + (—15)

29. Shona earned $44.00, spent $23.00, loaned
her brother $5.00, and then earned another
$26.00. How much money did she have then?

Simplify.
30. (+3) + (—3)}(—4)

31. (—2)(+5) — 4

32.16 + (—=8) — (-3)

33.0 + (A7)

34. (—4)(—3) X0

35, (+12) X (—3)(—2)

Simplify.
36. 14+ (-7)+5

37.4X5+10

38.9— (—4) + 7

39,9+5—-10—3

40. -3+ (-5)— 38

4112+ (4 + 4

Simplify.

42,14 — (—4) + (-9)
43, =17 + 6 — (—2)°
44. 8 X (—3) — 12
45,11 — 21 + (=7)
6. (—2)° — 6*

4+4x3-6
47, 224X J 6
-1
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Name

Test Two CHAPTER 4: Operations with Integers

MATHPOWER™ Seven, pp. 111-143

Add.

1. (—4) + (—6) 2. (+6) + (~3)
3. (-2) +(+9) 4. (+2)+ (7
Subtract.

5. (—6) — (—4) 6. (+8)— (+11)
7. (=7) — (+8) 8 (+3)- (-9
Multiply.

9. (+3) X (-8) 10. (—4) X (=7)

1L (+5) X (+7)

12. (—6) X (+8)

Divide.
13, (—21) =+ (=3)

14, (+44) + (-10)

15. (~18) + (+2)

16. (+27) + (+9)

Find the missing integer.

17. (-8) + [ ] = -3
18.[ ] —(-9=+5
19. ]+ (+4) =3
20, (+6) x [ | = +42
21 (—-6)—[]=-11

22. ]+ (+2) = +1
23. [ | X (=9) = +63
24, (+56) + [ | =7

Copyright © 1996 McGraw-Hill Ryerson Limited

25. The low temperatures for 1 week in
Hamilton, Ontario, were —12°C, —10°C,
—15°C, —7°C, 0°C, =7°C, and —5°C. What was
the average low temperature for that week?

Simplify.
26, —3(~5) + 5

27. (—6) X 7 + 15

28. 11 — (=5)(+3)

29. —4(+2) + 4(—2)

30.16+8><‘4—8

31. 50 + (—10) X 7

Simplify.
32.49-5 -9

33, —4+3(8 — 5)

34. (—10)(5 +2) — 2

35.6(4— 6) + 43 + 1)

Simplify.
36, —3 + (—4)° 37. (2 -5
38, —3* X 4 39. (=2 — (-1

40. =2 + (-3 x 2

11, (—4 — 52 ~ (-2

Simplify.

42. 3 -7 X (-3)

43, =24 + (—3) X (-2)
44, 88 + (—8) — (—15)
45, —2 X (~14) + (=7)
46. (-1)° - 8

36+9X2+10
g7, 3629X2+10
(-1?

51




Name:

Score:

Sheet 1

1)

3)

\.

(Representation of Integers)

Write an integer to represent each situation mentioned below:

James withdrew $80 from his bank account.

Harry adds 18 more toy carys to his collection.

Kevin took 5 crayons to school and lost them all.

Lillian received $10 as pocket money from her dad.

Mr. Johnson was fined $13 as he failed to pay the telephone bill on time.

Anna’s vegetable patch yielded 26 tomatoes in all.

Danny distributed 19 cupcakes to his friends on Thanksgiving Day.

Jim's friend gave him 7 candies.

Boston recorded a subzero temperature of 31°F.

The University basket ball match team lost their 12 points lead in the final quarter
of the match.

Name :

1)

11

13)

15)

/
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.

(-12)

16

18

+

(-3)

20

( Missing lntegers)

Score:

Type 2:S1

i

]

Fill in the missing integer(s).

18

17

14

10)

12)

14)

16)

-16

~10

-15
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Name: Score: Name: Score

Answer Key Answer Key
/———(Adding and Subtracting integers}—-&ﬁ‘il\ ———{Multiplying and Dividing Integers)—Ste=l—
Simplify. Simplify.
) 1+15= __ 16 2 (-6)-(-17)= __ 11 N 6x(-4)=__-24 ) (-105)+7=__ -15
3) 19-(-2)= 21 4 (-13)+20= 7 3) 117+13= 9 4 (-2)x(-10)= 20
5 (-4)+(-18)= _ -22 6 5-14= __ -9 5 (-11)x5=__ =55 6 108+(-9)=__ -12
7 (-12)-7= ___-19 8 10+(-16)= __ -6 7 154+ (14 = 11 8 13x12=__ 156
9) 3+(200= _ 17 10) (-8)-12= __ -20 9 8x3=__ 24 100 (-48)+(-6)= ___ 8
1) (-15)-(-10)= __ -5 12) (-19+18= __ -1 1) (-40)+10= __ -4 12) 4x(-15)=__ -60
13) 17+13= __ 30 14) 11-(-99= __ 20 13) (12 x(-7)=___ 84 14) 35+5=__ 7
15 16-0= __ 16 16) (-7)+(-14)= __ -21 15 90+(-15)= __ -6 1) (xT=__ -1
N -
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Name :

Score :

Teacher :

Date :

Score :

Name :
Teacher :

Date :

1Y 16+ 3)+ 8+ 2
19 + 8+2

19 + 4

23

2) (14- 3)x 8+6

11 X 8+6
88 +6
94

3) (11+40- 3)+12
( 51 - 3)+12
48 +12

4

4) (9 +51)=( 0+ 4)
60 + 4
15

5) 5x 5 x(5-10)

5x 5 x -5
25 X -5
-125

Order of Operations

6) (12- 2)+ 14+ 2
10+ 14+ 2

10 + 7

17

7) (15+22- 5)+ 2
( 37 - 5)+2

32 =2

16

8) (14+18)+( 9 - 5)
32 + 4
8

9) (16+4)x 13+ 4

20 X 13+ 4
260 + 4
264

10) 7x 8 x(6+2)

7x 8 x 8
56 x 8

448

1) (56- 6)+10+ 72

50 +10+ 72
50 +10 +49
5 +49

54

2) (4x5+2%)+10
(4x5+4 )+10

( 20 +4 )+10
24 +10

34

3) @1-3%)+(10+6)
(41- 9 )+(10+ 6)
32+ 16
2

4) Mx2+9%)+9
(11x 2 +81 )+ 9

( 22 +81 )+ 9
103 +9

112

5) 2x(12+6)- 82
2x 18 - 82

2x 18 - 64

36 - 64

28

[EkxE
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Order of Operations

6) (44- 4)+ 4 - 57

40 +4- 52
40 +4-25
10-25

-15

7) 8x(14+6)- 47
8x 20 - 47

8x 20 - 16

160 - 16

144

8) (2 +3)2+(12+ 2)
2

5 + 6
25 + 6
31

9) (11- 3)2+(14+ 2)

82 4 7
64 + 7
71

10 ) (73- 5%2)+(16- 4)
(73-25 )+(16- 4)

48  + 12

4

®

pattea
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4.2 Adding Integers

1. (+6) + (+3) = 49 2.(=3) + (-2)= 5
3.(+5) + (=2) = +3 4. (=5) + (+10) =
5.+10 6. +3 7. +3 8.-5 9.—1 10/
1. -5 12.-7

Add. | +8 | +3 —4 -1
13.[ -3 +5 0 -7 —4
4. +2 | +10 | +5 —2 +1
15. [ -9 -1 [ -6 | -13/] —-10
16. | +5 | +13 | +8 +7 | +4

17.+4 18.-8 19.-1 20.-5/21. —4 22.+3
23, (+5) + (=3) + (—4) = —

24. (—6) + (+4) + (~5) = —

25, (=3) + (=3) + (+9) = +3/

26.+6 27.-8 28.+10 29/4

4.3 Subtracting Integ,e'rs
1.-6 2.+2 3.-10 4. j‘-‘l 5.-32 6.+21

Addition 7

Subtraction
7 (+8) + (+2) = +10 | (+8) — (-2) = +10
8. (3+(4)—47 (=3)— (+4)= —
9. [ =)+ (=7) = =2~ F0= =
10. | (+4) + (=6) = '—2 (+4) — (+6) = —
11. [ (=5) + (+9) —z‘+4 (=5 - (-9) =

12. | (+8)+ (=3) 5 +5 (+8) — (+3) =

13, (+2), +5 14.(+7), +5 15.(—11), -2
16. (+4), +3 17.(+3), -8 18( 2), +6

19. (+3) + (— ) 0 20.(—6)%+ (+1)=—5
21, (+7) + (—=2) =/+5 22(4)+( 4) =

23. (+2) + (— 4)—_—2 24, (- 1)+(+7):+6
25.+16 26.—21 27.+6 28.+9 29.-9
30. +17 31. +6/ 32. +6 33.—8 34. +2
35.+10 36.—5 37.—3 38.+2 39.+12°C
40. +8°C 41. +14°C 42. +9°C 43. +10°C
44, +8°C 45.396°C

4.4 Problexﬁ'l Solving: Use a Formula

1.a) 255 km /b) 425km ¢) 765 km 2. a) 3300 m
b)1320m ¢)2145m 3.a) 600N b) 100 N

¢) 6 times greater 4.a) $62.50 b) $33.33

o) $175.00 5.a) 47.5 b) 69.5 c) 60

6.p =65 +/5.5n a) $285.00 b) $197.00

) $257.50 'd) $158.50

4.5 Multiplying Integers

1.+ 2= 3.+ 4 - 5+ 6.— 7.+28~
8.—40 9.+36 10.-18 11.—32 12. —49
13.—33 14. +30 15. +144 16.—200,/17. —120
18. +132 19. —300 20. +105 21. +48 22.—64

i

138

~—
———— e —

b).9°C ) 18°C
4.6 Dividing Integers

—55+ —11=+5,-55+ +5 =
+32+—4=-8,+32+ -8 =
—42++6=-7,-42+ -7 =
+18 + +9 = +2, +18 = +2
5+ 6.— 7.+ 8.— 9.+
12.
18.
24,
29.
34.
39.

1
2.
3.
4.

0. — 11. +4

-9 13.-1 14.-3 15. 16. +3 17. +4
-3 19. -9 20.-8 21.¢ 22. +3 23.-5
—2 25.+12 26. —42 .+13 28. -7

—27 30.-10 31.+17/32.—4 33. =7
+2 35.+12 36.—-3 B7.—3 38.+6
—2°C

4.7 Order of Operations with Integers

1.1 2.-15 3.-18
8.—-13 9.-22 10. ]~75 1. -12 12.5 13.6
14.

20.

26.
31.
33.

.—1 5.—-11 6.22 7.51

18 15.-8 16.£991 17.62 18.1 19.-40
81 21.-30 22050 23.—4 24.-22 25.64
-7 27.18 28/1 29.—4 30.-5
—3X5+1549 32.15+5-9-3
—3X5+15F (=9) 34.[15— (=3)] + (-9) -5

35. Answers m 1y.
48 ProbleuzySolving: Use Logical

Reasoning
1. Brigitts , Fazil—26, Berta—18, Brian—39
2: Maxine—,ﬁon—ﬁction book, Maurice—novel,

Gizella—video tape, Myriam—audio tape

3. Left to

ight: willow leaf, birch leaf, oak leaf, elm

leaf, mapl¢ leaf
4. $12.50 /5. 6 coins

have tg tie her running shoes. Paul’s running
shoes fo not have laces or buckles, and they are
not a prand name. Anna’s running shoes do not
havestripes or buckles, nor are they a brand

Test One Chapter 4: Operations with
Integers

143 2.4+12 3.—4 4. —7 5.44 6.-3
7.-16 8. +14 9. —18 10.—40 11. +14
. +32 13.—-3 14. -8 15.+6 16.43
.—4 18.-30 19.-5 20.+17 21.+28 /
22.

27.

12,
17,

What colour are each person’s running shoes?

. Peter’s running shoes-are-a brand-

~5 23.-2 24.-13 25.-8 26.—48
~7 28.-7 29.$42.00 30, +15 3114 /

/
Copyright © 1996 McGraw-Hill Ry Son Limited

—

/

32.+1733. 0 34.0 35.+72 36.3 37.30 38.20

391 40.-16 41.11 42.9 43.-3 44.-36

'45.14 46. —68 47.-—12

Test Two Chapter 4: Operations with
Integers

1.-10 2.+3 3.+7 4.+9 5 -2 6.—3

7.-15 8. +7 9.—24 10. +28 11.+35 12.—48
13.+7 14. -4 15.-9 16.+3 17.+5 18.+1
19. —-12 20.+7 21.+5 22.—-1 23.-7 24.-8
25. —8°C 26.3 27.-27 28.26 29.-16 30.0
31.—35 32.7 33.5 34.-72 35.4 36.13

37.3 38.—-36 39.—7 40.16 41.—8 42.48

43. —18 44.4 45.—4 46.—65 47.18

Extension Chapter 4: Operations with
Integers o

~—Add—|-——6-—=5| +3|+10[-15

i -1 —7| —6] +2| +9[-16
2. —7 | -13| —12| —4| +3[ A2
3. +18 | +12 | +13 | +21 [ +28 [/ +3
4. —13 | —-19 | —18 | —10| —3/] —28
5. —6 | —12]-11] -3 /vi —21

Subtract. | +3 =5 +104 =7 | =3
6. -5 +8 ol +15] —2[ +2
7. +17 | —14 | —22| A7[-24[-20
8. —21 | +24 | +16 | £31 [ +14 | +18
9, +6 3| -l +4]-13[ -9
10._ 13 | +16 +/ +23] +6[+10

Multiply.] -3 [ A7] +9] —6| -1
11. +6 | —18 [/+42 | +54| —36 | —6
12. —8 | +24/] 56| —72 | +48 | +8

13. +4 | —18 [ +28| +36 | -24 | —4
14.[ +10 [ 80 [ +70] +90 | —60 [ —10
15. —7 | #21] —49]-63[+42 [ +7

Divide./[ —20 | +60 | +40 | =80 [+100

16. —2/ [ +10 | =30 | —20 | +40 | 50
17. +4/ —5| +15[ +10[ —20 | +25
18. -5 +4 | -12] —-8] +16 | —20
19 +10 —2 | +6] +4[ 8] +10

20. /=1 +20 | —60 | —40 | +80 |—100

/-] +1|+8

/ 0[+5|-2

Copyright © 1996 McGraw-Hill Ryerson Limited

1
—~

/,1»‘7. 75% 18.80% 19.50% 20.35%

~The sum of the values on the sides of each
triangle divided by —3 equals the inside value.
23.2 2454 25.4 26.—-8 27.-2 28. 1
29. =7 X 6 4 X (—8) 30. -3+ 6+ (=7) —
316+ (=3)X 5 + (=7) 32.(=7-2) + (=3) X
33.6 —(—8) A5 +2 34.6 X4 —(—3) X (-8)
35. —9°C

CHAPTER/5: Percent

5.1 Percen,t"

1.37% 2.83% 3.64% 4.94% 5.75% §.70%
7.100%8.50% 9.37% 10.93% 11.58fh
12.21% 13.54% 14.13% 15.34% 16/90%

21.| Week | Absences (%)
1 14

O G [W> | [N
K=}

22.42% 23.$0.29 24.$0.32
27.$0.65 28.$0.88 29.48%
b) 33% dimes ¢) 33% quarte:

. $0.04 26.$0.73
0. a) 34% nickels

5.2 Fractions and Decimals as Percents

1.50% 2.70% 3.60% 4./68% 5.38% 6.5%
7.56% 8.75% 9.3% 10/60% 11.61% 12.5%
13.20% 14.7% 15.35% 16.45% 17.84%

18.685% 19.> 20.< /21.= 22.> 23.<
24. >
Lovy’est Terms
Decimal Fraction Percent
3

25. 0.6 / g 60%
w| 03 |/ % 30%
w| s | 3 15%
s os /[ B 58%
w| ox [| 38%

30.60% 31. a)/Stephan: 84% b) Stephan:
21 questions; Ellen: 20 questions;
Blake: 20 que tions 32.75% 33.27.5%

5.3 Percefits as Fractions and Decimals
3,941 ,9 52 (3

120 225 325 420 525 6¢5 7.0.16

8.048 9_; 0.03 10.0.3- 11.0.05 12.0.15

/
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Name: Score:

Name: Score:
Answer Key Answer Key
— (Representation of Integer% sheet ] ~ - ( Missing Integers) Type 251
Write an integer to represent each situation mentioned below: Fill in the missing integer(s).
1) James withdrew $80 from his bank account.
1 (<12 +_15 = 3 2) 8 - (-10) = 18
-80
2)  Harry adds 18 more toy carys to his collection.
+18 3 (=14 + (-6) = -20 4) 6 - 17 = -1
3)  Kevin took 5 crayons to school and lost them all.
=5
5) 16 - _(-2) = 18 6) 3 + (-19) = -16
4)  Lillian received $10 as pocket money from her dad.
+10
5  Mr. Johnson was fined $13 as he failed to pay the telephone bill on time. 77 (-9 - (-3) = -6 8) 0 + (4 = -4
=13
6)  Anna’s vegetable patch yielded 26 tomatoes in all.
9) 11 + 6 = 17 10) -1n -_9 = -10
+26
7)  Danny distributed 19 cupcakes to his friends on Thanksgiving Day.
=19 m 18 - _4 = 14 12) (=200 + 5 = -15
8) Jim's friend gave him 7 candies.
+7
13) 10+ (-15) = =5 14) 4 - _13 = -9
9) Boston recorded a subzero temperature of 31°F.
=31
10)  The University basket ball match team lost their 12 points lead in the final quarter 15) -11) - 20 = =31 16) 1 + 12 = 13
of the match.
-12
. ) -
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